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Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of

questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
Example : 5
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

You have to return the test question booklet and Original

OMR Sheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry

duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.
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LABOUR WELFARE AND INDUSTRIAL RELATIONS

a b c d
(A) i 1 iv il
B) i v i il
(C) i i i iv
(D) i1 il i v
Which of the following is the major
element of planning process ?
(A) Developing leadership abilities
(B) Selecting right people
(C) Perception of opportunities
(D) Motivating people

Which principle of management is
violated by matrix organisation
structure ?

(A) Division of Labour

(B) Unity of Direction

(C) Unity of Command

(D) None of the above

Which of the following involves
careful analysis of inputs and
corrective actions before operation is
completed ?

(A) Feed forward control

(B) Concurrent control

(C) Feedback control

(D) All the above

Paper-I1

Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks. All questions are
compulsory.
1.  Match the following : 5. Which of the following is not a
Thinker Management semantic barrier of communication ?
Principle (A) Faulty translation
a. FW. Taylor 1. Authority and (B) Ambiguous words
. . R?Sp onsibility (C) Specialist’s language
b. Henri Fayol  1ii. Hierarchy DY I }
c. Weber iii. Separation of (D)  Inattention
planning from
doing People should be regarded as assets
d. Elton Mayo  iv. Human rather than variable costs was
Relations emphasised in
Approach (A) Personnel Management
Codes :

(B) Human Resource Management
(C) Personnel Administration
(D) Public Administration

The classical theorists favoured
organisation based on

(A) Civilian model
(B) Strategic model
(C) Military model
(D) None of the above

Job analysis includes :

(A) Job  description and  job
enlargement

(B) Job enlargement and job
enrichment

(C) Job  description and  job
specification

(D) All of the above

A test which measures, what it is
intended to measure is

(A) Reliable test

(B) Standardised test
(C) Objective test
(D) Valid test

D-55-12
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10.

11.

12.

13.

An enquiry that is conducted afresh
because of the objections raised by
alleged employee is called

(A) Domestic enquiry
(B) De-novo enquiry
(C) Ex-parte enquiry
(D) None of the above

The concept of HRD scorecard was
introduced in India by

(A) Udai Pareek
(B) Rao and Pareek
(C) T.V.Rao

(D) Arun Honappa

Performance appraisal by all the

following parties 1is called 360°

performance appraisal :
(A) Supervisors and Peers

(B) Subordinates
themselves

and Employees

(C) Users of Service and Consultants
(D) All the above

The following is the right process of
training :

(A) Instructional design, validation,

need analysis, implementation
and evaluation
(B) Need analysis, instructional
design, validation,
implementation and evaluation
(C) Need analysis, validation,
instructional design,

implementation and evaluation
(D) Instructional design, need

analysis, implementation,

validation and evaluation

14.

15.

16.

17.

Fish bone analysis as a tool of quality
circle was advanced by

(A) Edward Deming
(B) Joseph Juran

(C) Kouru Ishi Kawa
(D) Phillip Crosby

Match the following :

Books and
Concepts

Authors

a. Games People 1. Eric Bernie
Play

b. Tam OK you 1ii. Kurt Lewin
are OK

c. Johari iii. Thomas A.
Window Harris

d. Force  Field iv.Joseph Lufth &
Analysis Harry Inghams

Codes :

a b c d
(A i 1 v il
B) i i iv i
C) iv i i i
(D) i i i v

Which of the following decreases
group cohesiveness ?

(A) Agreement on group goals
(B) Frequency of interaction
(C) Large group size

(D) All the above

Managers subscribing to
assumptions attempt to structure,
control and closely supervise their
employees.

(A) Theory ‘X’
(B) Theory Y’
(C) Both Theory ‘X’ and Theory Y’

(D) Neither Theory ‘X’ nor Theory
(Y,
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11.

12.

13.
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18.

19.

20.

21.

According to Fiedler’s Contingency
Model of Leadership, which one of the
following is a situational variable ?

(A) Leader — Member relationship
(B) Organisational System
(C) Degree of task structure

(D) Leader’s position power

The right sequence of steps in Kurt
Lewin’s change procedure is

(A) Unfreezing — Moving — Freezing
(B) Moving — Unfreezing — Freezing
(C) Unfreezing — Freezing — Moving
(D) Freezing — Moving — Unfreezing

Which of the following is not a
traditional method of organisational
development ?

(A) Survey feedback
(B) Sensitivity training
(C) Process consultation

(D) Managerial grid

Characteristics of Industrial Relations
do not include :

(A) Industrial Relations are outcome
of employment relationship in an
industrial enterprise.

(B) Industrial Relations promote the
skills and methods of adjustment
and co-operation with each other.

(C) Industrial  Relations create
complex rules and regulations to
maintain cordial relations.

(D) Industrial  Relations  system
creates an environment of
distrust and conflict.

Paper-I1

22,

23.

24.

b. Works Committees

c. ILO established in the

d. First National

Who are not the Actors of Industrial
Relations ?

(A) Workers and their organisations

(B) Employers and their
organisations

(C) Community and cultural
associations

(D) Government and the role of the
State

Which of the following is a machinery
for settlement of industrial disputes ?

(A) Indian Labour Conference
(B) Joint Management Council
(C) Industrial Tribunal

(D) Standing Labour Committees

Match List — [ with List —1I :

List -1 List — 11

a. Joint Management 1. 1958

Council consisting of
representatives of

workers and

management was

considered by the

Indian Labour

Conference (ILC) in its

15™ Session in the year

ii. 1947
were set-up under the

Industrial Disputes Act

in the year

1ii. 1919
year

iv. 1969
Commission on Labour

submitted its report in

the year

Codes :
a b c d
(A) 1 i i iv
B) v 1 111 i
(C) i1 i 1 v
D) 1 v 1 11
D-55-12



18.

19.

20.

21.
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22,

23.

24.
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25.

26.

27.

Which of the following trends in the
employment relations in the new
economic era is not correct ?

(A) Declining stability and security
(B) Declining labour intensity

(C) No shift from contract of service
to contract of service

(D) Declining mutual commitment

A Trade Union means

“An association of workers in one or
more professions carried on mainly for
the purpose
advancing the members’

of protecting and
economic
interest in connection with their daily
work”.

Identify the author :

(A) Sidney and Beatrice Webb
(B) J. Cunnison

(C) G.D.H. Cole

(D) Clyde E. Dankert

A union may claim recognition for an
industry in a local area, if it has
membership of

(A) 10% of the workers in that
industry.

(B) 15% of the workers in that area.

(C) 25% of the workers of that
industry in that area.

(D) 30% of the workers in similar

industry.

28.

29.

30.

Who among the following advocated
the Trusteeship Theory of Trade
Union ?

(A) N.M. Lokhande
(B) B.P. Wadia

(C) G.L.Nanda
(D) M.K. Gandhi

Inter and intra-union rivalry in Trade
Unions is reduced by

(A) The provisions of the Industrial
Disputes Act 1947

(B) By voluntary tripartite code of
inter-union rivalry — 1957

(C) By bipartite mutual agreement at
the industry level

(D) Above all

Match the following trade unions
according to the year of formation :

List -1 List — IT
a. AITUC 1. 1947
b. CITU . 1948
c. INTUC . 1920
d. HMS iv. 1970
Codes :

a b c d
(A) i v i il
B) i il v i
(C) i i v

M) i i i iv
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31.

32.

33.

‘Employment Injury’ means personal
injury to an employee caused by
accident or occupational disease
arising out of and in the course of
employment being an insurable
employment if the accident occurs or
occupational disease is contracted only
within territorial limits of India and not
outside India.

The above statement is

(A) correct.

(B) incorrect.

(C) true only in case of occupational
injury.

(D) true only in case of accident.

Under ESI Act, 1948 a member of the
Corporation, Standing Committee or
the Medical Council shall cease to be a
member of the body if he fails to attend

(A) two consecutive meetings
(B) three meetings intermittently
(C) three consecutive meetings

(D) four consecutive meetings

Under Workmen’s Compensation Act,
1923

(A) individual manager subordinate
to an employer cannot act as
managing agent.

(B) managing agent includes an
individual manager subordinate
to an employer.

(C) only employer can act as
managing agent.

(D) the appropriate government shall
appoint managing agent.

Paper-I1

34.

3S.

36.

The Workmen’s Compensation Act,
1923, the Maternity Benefit Act, 1965
and the Employees State Insurance
Act, 1948

(A) together can be applicable.

(B) the Maternity Benefit Act and the
Employees State Insurance Act
can be applicable at a time.

(C) the Workmen’s Compensation
Act and the Employees State
Insurance Act can be applicable
at a time.

(D) if the Workmen’s Compensation
Act and the Maternity Benefit
Act  are applicable, the
Employees State Insurance Act is
not applicable.

What is the content of the Schedule I
of the ESI Act, 1948 ?

(A) List of injuries deemed to result
in permanent total disablement.

(B) List of injuries deemed to result
in permanent partial disablement.

(C) List of occupational diseases.

(D) None of the above

A person is qualified to be chosen as a
member of the executive or any other
office bearer of the registered trade
union if he attained the age of

(A) Fifteen years
(B) Eighteen years
(C) Twenty one years

(D) Twenty five years
D-55-12
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37.

38.

39.

The registered trade union can collect
political fund from its members as a

(A)

general fund

(B) cannot collect political fund
(C) separate fund from the interested
members

(D)

only from political parties

‘Award’ under Industrial Disputes Act,
1947 is

(a) not interim determination of
labour court

(b) not arbitration
Section 10A

(c) not final determination of labour
court

(d) not final determination of

arbitration award under section
10A

All statements are true.
(a) and (d) are true.
(b) is true.

All statements are wrong.

award under

(A)
(B)
©
(D)

The dispute of individual workman is
deemed to be industrial dispute if the
dispute or difference is connected with
or arising out of the following where
no other workman nor any union of
workman is a party to the dispute.

(A) Grievance of an individual
workman.

(B) Discharge of an individual
workman.

(C) Dismissal of an individual
workman.

(D) Discharge, dismissal,
retrenchment  or  otherwise

termination of services of an
individual workman.

Paper-I1

12

40.

41.

42.

43.

44.

The ceiling on wage or salary for

calculation of Bonus under the
Payment of Bonus Act 1965 is

(A) 2,500 (B) 3,500

(C) 4,500 (D) 6,500

“A  desirable state of existence
comprehending  physical,  mental,

moral and emotional health or well
being” is the theme of which concept

of Labour Welfare ?
(A) Social Concept
(B) Total Concept
(C) Relative Concept
(D) Positive Concept

Assertion (A) : Labour Welfare is
relative to time and space.

Reason (R) : It shall be universal and

perpetual.

(A) Assertion and Reason are right.

(B) Assertion is wrong and Reason is
right.

(C) Both Assertion and Reason are
wrong.

(D) Assertion is right but its

explanation given in Reason is
wrong.

Minimum conditions of welfare is
explained by

(A) Dr. Aykroid’s formula

(B) Subsistence Theory

(C) Both (A) and (B)

(D) None of the above

Which of the following is not a
principle of Labour Welfare ?

(A) The Principle of Uniformity

(B) The Principle of Co-ordination
and Integration

(C) The principle of Association

(D) The Principle of Timeliness

D-55-12



37. USiigd ASIG G910 T ¥ fEfead

38.

39.

% T § TeTITe FTY oot o T ¢
(A) Mg M

(B) ToHiTaes (R ageT &l o qehelT € |
(C) wfa TE et 9eei | 376 iy
(D) AT AT Sl |

Aefier faarg efuf=m, 1947 & o=
e

(a) o9 <™ §RT SARE FHuroer T@t
T

(b) ERT 10-% & T HEEwH Ude
TE |

(c) M =T gRT iy FeERo 721 € |

(d) 9R1 10-% & e Wy uhe

1 i e T €

Tl o W E |

(a) 3T (d) W& T |

(b) TN T |

T AT TeAd & |

(A)
(B)
©
(D)

T FHHR T AT [Fag 39 F=fd 3§
ST ToaTs guen STum aig 5% faars
7 qaug FEfaiEd =t 3 w9 a1 H
HROT ST TN &1 SR STl HIE 3T HET
I HHIR H HE 99 39 foag d HiE
TeTHR 7 &

(A)
(B)
©)
(D)

I ol HTHTR ot AT T &l |
I ot SR o1 S foham ST |

7 FoRElt SR Sl Y540 TohaT 1T |

o o <
Iy el R 1 S@Rd, T8

DA AT AT Ha I & {3 S |
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40.

41.

42.

43.

44.

T=E T I, 1965 & €N S99

1 fEqT o % foTT BTGt A1 o
affersher T &

(A) 2,500 (B) 3,500

(C) 4,500 (D) % 6,500

R g WAl aell oee Sied
fefa” 9/ Feamor Sl i H Gehedq T H
o

(A) QIS FehedT
(B) 99U HehodT
(C) TTdeT HehouT

(D) FHRTcHE FehodHl

ATHAT (A) : FH FHeawT T FR W
HT G |

T (R) : I8 Tt T Imved & |

(A) e 3T ah Wl & |

(B) 3T TTetd & TR o el € |

(C) 3Miyehe 31X ek T et & |

(D) e el & AT ah | & e

! ST TeAd € |
HEATOT i e Feafe bt Samer @i &
(A) . STEHES H Y
(B) e =1 faia
(C) (A) 3R (B) I
(D) SUge | ¥ HiE TEl

frfefea & @ &9 a1 59w @
T i 8 2

(A) TEETT 1 fHgia

(B) TE=E 3T GHTHAT I (G5

(C) TISH = 5T

(D) |HISE FI 5
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45.

46.

Match the following :
List—1I
(Theme)

a. The labour 1.
welfare
philosophy s
meant for
guarding  the
interests of
labour against
the exploitation
of employers.

b. The labour
welfare
philosophy
exposes the
cause of
empathic
considerations by
the employer of
employee  well
being

c. The employer
has to set out a
portion of the
profits for the
benefit of the
employees

d. Labour Welfare
is provided for
pacifying  the
agitating
working class

Codes :

a b c d

(A) i v il i

(B) i v i ii

©) 1 i i iv

(D) v i il i

“Labour is not a commodity” — is the

assertion made by

List — 11
(Theory)
Trusteeship

Theory

i1. Placating
Theory

iil. Policing

Theory

1v. Philanthropic
Theory

(A) the Declaration of Philadelphia
adopted by 26™ session of ILO

(B) the Magna Carta

(C) the Constitution of India

(D) the International Labour
Conference

47.

48.

49.

50.

Paper-I1

14

Match the following :
Concept Propagators
a. Industrial i. Karl Marx
Democracy
b. Industrial ii. Robert Owen
Citizenship
c. Class Conflict iii.Peter F. Drucker
d. Welfare v. Sydney &
Movement Beatrize Webbs
Codes :
a b c d
(A) i i i iv
B) v i i il
© i i v il
D)y i v i il
Assertion (A) : Industrial Labour in
India has been migratory.
Reason (R) Driving force in
migration comes almost entirely
from one end of the channel, that
is the village end.
(A) Both (A) and (R) are wrong.
(B) (A)is wrong and (R) is right.
(C) (A)isright and (R) also is right.
(D) (A) is right and (R) is wrong.
Match the following :
Theory of wages Propagators
a. Wage Fund Theory i. John Bates
Clark
b. Marginal ii. John
Productivity Davidson
Theory
c. Bargaining Theory iii.John Stuart
Mill
d. Investment Theory iv.Gilelman
Codes :
a b c d
(A) 1 v i ii
(B) i i i v
©) v i i i
D)y i i i iv
The “Marginal Discounted Product of

Labour” as a modified version of
Marginal Productivity Theory was
advanced by

(A) Taussig
(C) Ricardo

(B) Kalecki
(D) Adam Smith

D-55-12
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45. FATAREd i GHTAT BT ;

=t -1
(eftw )

et - 11
(fgier)

oo

a. 9 AT HT T
[ERISERANRE
S ot SiHeh! &
ST % Ufd fHeh
% fedi ot T &
faw e |

b. HH FHeA0T T,
FHHEARI T el &
T f7aiste g
AR a9
T GHIT HAT T |

c. ST # I
AT BT P 91T
FHUAET o AT
TG &I |

i. RI o

ii. @ikl fagia

iii. oiferraT fogia

d. S5 HIMT HHTR

ot & oy Ht
T HH & faw
e ST & |

FE

a b c
(A) i iv il
(B) i1 v i
(C) i i il
(D) v 1 i

46.

.o fa
1v. 4AllYen

ESFAG]

d
i

il

v

i

“gffes HIE T M@l ¢ — Tg SINIH

TrefeIiad grT e fomar T

(A) AT o9 Wed % 269
METH gRT Sl Themefowman

EaRIl
(B) BT el
©

(D)

D-55-12

TR T GfTE=
FAWLT 5T THAT

47.

48.

49.

50.

15

o oo a¥al

EATARad Sl GRTCT I ;
Theu-T AT
a. SNl A 1. ot AT
b. 3irEnfiTes ii. &
ANTRERAT
c. o guy iii. 9eX T, gt

d. FHeoT MRIeH v, faEr S slieres]

T :
a b c d

(A) i i i v

B) iv i i i

(C) i i iv i

(D) i iv i il

ANFIT (A) : 9RT H i afbE
SRR § |

% (R) : TEERERT & 78 ¥4 W & §
SeepieTd: ST § T ¥ ¥

(A) (A) 3R (R) THT 7oA € |

(B) (A)Terd & 3 (R) W& € |

(C) (A)TE & AT (R) T T E |

(D) (A) T & 3R (R) T € |

[a¥aY

frfefad sl THMIAT it
g & gt EECol]
a. ASIgd ity o1 fagia i, S a9 Flreh

b. T STARHAT BT i1, ST SlaSqT
[ESFSK]

c. TRt = fag| il S T et

d. frare = fagia iv. Serers=

FHIT:

a b c d
(A) i v i i
B) i i i v
) iv i i i
D) i iii i iv

“sT o1 AT F5T S GIHd ScdTgehdl

& Togia o eeitud ®9 8, SEh el
efafag A i €
(B) cATeht

(A) difa
(C) Teepret (D) Tuey fEy
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